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(1) If an individual moves money from a demand deposit account to a small-
denomination time deposit account,
AM] stays the same and M2 increases.
B)Ml decreases and M2 stays the same.
CIML increases and M2 decreases.
D)ML stays the same and M2 Stays the same.

(2) Which of the following instruments is not traded in a money market?

A)Commercial paper
B)U.S. Treasury Bills
C)Banker's acceptances
D)Residential mortgages
E)Eurodollars

(3) Which of the following instruments are traded in a capital market?

A)Corporate bonds
B)Banker's acceptances
C)U.S. Treasury bills
D)Repurchase agreements

(4) Which of the following is a contractual savings institution?

A)A mutual fund

B)A savings and loan association

C)A life insurance company

D)A credit union
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(5) When the Fed increases the money stock, the money supply curve shifts
to the __  and the interest raie

Ayleft; falls

B)left; rises

C)right; rises

D)right; falls
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